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Full Marks - 70
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The figures in the margin indicate full marks
for the questions.

PART _ A

l. Answer the following questions : 2xl0 :20

(i) Describe the composition of brick earth.

(ii) write short notes on soundness of cement.

(iii) what do you mean by Knot in Timber ?

0n) write down the engineering properties of
plastics.

(y) Describe the characteristics of good paint.

(vi) what do you rnean by seasoning of timber ?
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(vii) What do you mean by Efflorescence ?

(viii) Write dovm the orample of anificial
seasoning.

Write down the composition of distemper.

Excess of which ingedient malres the brick
dark blue in colou ?

(ix)

(x)

Write down the uses of following :

(i) Thinner in paint

(ii) Calcium oxide in cement

(iii) Alumina in earth brick

(iv) Water in concnete mix

(v) Mortar in RCC

I x5:5

PART _ B

l. (i) Describe the various stages of manufactur-

ing cement with proper diagram (if ne-

quired).

(ii) Classiff the cement based on source,

applicatfon and constituents 9+Fl5
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l) Whd are thc cmearison bcrveen Cas kont
Wrqghr &m snd Steel ?

(ii) }ft" arp thc charac'teristic of good vrrnish ?

lO+5 =15

Discrrss in hicf Qp qp€rdim involved in the
nmufrcnnc of ondinry pcttmd sem€ot by dry

.15

(3) 30(Y)



Total t=Io. of printed pages : 6

i',, CT-302/Sulv-V3rd Sem(R/2018/M

ST'RVEYING - I
Full Marks - 70

Pass Ma*s - 28

Time - Three hours
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for the questions.

PARI - A

t. Choose the correct answer from the given

options : I x5:5

(i) If the whole circle bearing of a line is 23,7"

45' 30", its quadrantal bearing is

(a) S 57o 45' 30" W

o) s 47" 45', 30" E

(c) S 32" 14'30" W

(d) s 32" 14' 30" E
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